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(vi) Roofing :- 

       Thickness of R.C.C. (1 : 2 : 4) roof slab is 

       100 mm. Thickness of lime terrace over 

       roof slab is 100 mm. Parapet height will be 

       750 mm and will be 200 mm thick.

***
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Time : 4Hrs. Sem - V - Ag  
Farm St. Drwg.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Two questions from Group B, each question 

carries 10 marks.

Answer all Two questions from Group C, each question 

carries 15 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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  Rise = 150 mm, 

  Tread = 250 mm

 Thickness of all walls = 300 mm, 

  lintel = 100 mm thick, sunshade 100 mm, 

  thick will be projected 450 mm from walls. 

  Ceiling height = 3300 mm.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

A plan of a building represents .......... section.

(a) Vertical

(b) Horizontal

(c) Both 'a' & 'b'

(d) None of these

In a residential building rise of a stair is 

normally kept :

(a) 100 mm

(b) 150 mm

(c) 250 mm

(d) 300 mm
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(iii)

(iii)

(iv)

(ii)

between two flights is called :

(a) Open well stair

(b) Dog legged stair

(c) Straight stair

(d) All of the above

to the principal rafter.

(a) Parallel

(b) Normal

(c) Both 'a' & 'b'

(d) None of these
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       The height of plinth will be 600 mm above 

       ground level. thickness of wall in plinth will 

       be 400 mm. 25 mm thick D.P.C. will be 

       provided all around the building.
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OR

Draw half sectional front view of the slab culvert 

using the data given in above question no. 5, 

Assume other necessary data and scale suitably.

(i) Foundation :- 

     The depth of foundation will be 900 mm below 

     ground level. The P.C.C. will be 1000 mm wide 

     and 100 mm thick in 1 : 2 : 4 cement concrete. 

     Brick masonry in foundation will have two footing 

     800 mm and 600 mm wide.

     Thickness of each footing will be 400 mm.
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(iv)

(v)

(v)

(vi)

The end supports of a slab curvert is called.

(a) Pier

(b) Abutment

(c)  Wall

(d)  Ridge

(a) Tiled

(b)  Pitched

(c)  Both 'a' & 'b'

(d) None of these
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(vii)

(vii)

(viii)

(vi)

The vertical member of a king post truss at 

centre is called :

(a) King Post

(b) Queen Post

(c) Rafter

(d) Purlin

Damp proof course is provided at ..........

level.

(a) Plinth

(b) Lintel

(c) Sill

(d) Roof
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(viii)

(ix)

(ix)

is called:

(a) Sub-Structure

(b) Super Structure

(c) Both 'a' & 'b'

(d) None of these

(a) To drain rain water

(b) To arrest decline in ground water level

(c) Both 'a' & 'b'

(d) None of these

(x)
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Draw half sectional plan of a slab culvert of single 

span with following data :

Clear Span = 1800 mm, 

Bed level below G.L. = 1400 mm,

Thickness of deck slab = 200 mm,

Road width = 4000 mm,

Height of deck slab above G.L. = 2000 mm,

Side slope = 1 : 1,

Depth of foundation for abutment = 2500 mm,

Below G. L. width of abutment = 800 mm,

Thickness  of abutment = 600 mm,

Bed slab = 150 mm thick,

Parapet = 300 ´ 900 mm

Assume other necessary data suitably.

Assume suitable scale.

5.

15
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The bottom horizontal member of the door 

or window frame is called.

(a) Head

(b) Style

(c) Post

(d) Sill

A sloping roof having slope in one direction 

only is called:

(a) Gable roof

(b) Lean to roof

(c) Both 'a' & 'b'

(d) None of these

(xi)

(xi)

(x)
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(xii)
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FIG - 01

All Dimensions are in Meter. Not to Scale 
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OR

With the help of attached line plan (fig-01) and 

specification No. 1, draw section at ABCDE of 

the building on a suitable scale.
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in closed room is called :

(a) Glazed door

(b) Panelled door

(c) Louvered door

(d) All of the above

The number of vertical members in a queen 

post truss is/are

(a) One

(b) Two

(c) Three

(d) Four

(xiv)

(xii)

(xiii)

(xiii)
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FIG - 01

9

lintel remains at :

(a) Bottom part

(b) Top part

(c) Both 'a' & 'b'

(d) None of these

0(a) 10
0

(b) 15
0

(c) 30
0(d) 45

(xiv)

(xv)

(xv)
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(xvi)
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A footing which supports two columns is 

called:

(a) Isolated footing

(b) Combined footing

(c)  Continuous footing

(d)  None of these

choukhat with wall is called:

(a) Horn

(b) Rebate

(c) Frame

(d) Hold fast

(xvii)

(xvii)

(xviii)

(xvi)
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OR  

Draw on a suitable scale the longitudinal section of 

a dog logged stair for one flight whose total height 

is 1800 mm, Tread is 300 mm and rise is 150 mm. 

Assume all other data suitably.
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                 GROUP  - C

15 x 2 = 30
Answer all Two Questions.

4.With the help of attached line plan (Fig-01) and 

specification No. 1, draw detailed plan of the 

building on a suitable scale.15
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Assume missing data suitably
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10

Draw cross sectional view of a spread footing of 

300 mm thick wall for following data :

Plinth height = 750 mm

Thickness of wall in plinth = 400 mm

First footing = 900 mm wide and 300 mm high

2nd footing = 800 mm wide and 300 mm high

3rd footing = 600 mm wide and 400 mm high

Cement concrete in foundation = 1000 mm wide 

and 100 mm thick.

Assume suitable scale.

3.
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0 0(a) 10  to 20
0 0

(b) 30  to 45  

(c) Both 'a' & 'b'

(d) None of these

ground slope is .............. than design slope.

(a) More

(b) Less

(c) Equal

(d) None of these

1611504

(xviii)

(xix)

(xx)

(xix)
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OR

on a wall 400 mm thick with following data :

Principal rafter = 100 mm ´  75 mm

Tie beam = 125 mm ´ 100 mm
0

Slope of roof = 30

Assume suitable scale and other necessary data 

required.
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(xx)

Answer all Two Questions.
10 x 2 = 20

2.

10

Draw to a suitable scale the elevation of a fully 

panelled window of size 1000 mm ´ 1500 mm 

(opening). Assume all other datas suitably.

Assume missing data suitably
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